Ratio to ATLAS

0.5

7000 GeV pp Underlylng Event

sum E_ [GeV]

= T | T T T T T TT | T | E.}Q
— -
— — O
Sum ET (4.0 < p| < 4.8, p"™""™ > 0.5(0.2) GeV, I':” > 20 GeV, | < 25},
| s
— =[]
— =1%o}
— A
B m e
— | ]
= " . =5
B T
= m =
= Ho
— -1 ™M
L <
(40)
- o
L & _lo
= & MTY™ . =M
= T TTERe.l 0 TR =
= B S I 32
~  m ATLAS ST e 1k
=— --3-- Herwig 7.0.1 default . =C
— —a— Pythia 8.201 default el 32
— ¢ Sherpa 2.1.1 default T 18
= ke
— -1 &
| - O
_l | | | | | | | I | | | | | | I_ E
:l T T T T | T T T T | T T T T | I:
o =42
1
| —0.5
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1
0 5 10 15



	Contents
	Page 1


